\ASMETAL A

Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ans Moaseckn W Pyna Ynpaenenus

SOL / LEFT / JIEBAA SAG / RIGHT / MPABAA
09/1997->
200P1000 200P1000 170P4046
@
170P2501 g
(%}
260P05 260P05
100P2000 110P00 110P00 100P2000
As Metal Ref. Aciklama Orijinal Kod
Koa As Metal Description / Pa3bsicHeHue Original Number / OpuruHanbHsbili Kog
Rotil Alt 352 800/ 352 829 /352 830
100P2000 Ball Joint Lower 5063 391 /4835 740 / 904 87 561
LLlaposas onopa HuxHas 905 12 982
Arka Dingil Tikirti Burcu  Alt 423121
110P00 Rear Axle Silent Bushing Lower 4567 244
CaiineHTbn0k 3agHein Oc  HuxkHAsA 904 96 700
Rotbasi M14x1,5 Sag Dis 1603 227 /5239 314 / 5235 650
170P2500 Tie Rod End M14x1,5 RHT 128 01423 /127 87 821/ 127 65 896
HakoHeuHuk pynesoii Tarm ~ M14x1,5 Mpasas pesb6a 773 63713 /931 72 254
Rotbasi M14x1,5 Sag Dis 1603 228 / 5239 322 / 5235 668
170P2501 Tie Rod End M14x1,5 RHT 127 81813 /128 01 424 /127 87 822
HakoHeuHuk pynesoii Tarm  M14x1,5 Mpasas pesb6a 773 63712 /931 72 255
Rotbasi M14x1,5 Sag Dis 324 063 / 1603 286
170P4046 Tie Rod End M14x1,5 RHT 4836 540 / 4905 949
HakoHeuHuk pynesoii Tarm  M14x1,5 Mpagas pesb6a 93186 321/905 12 775
Rotmili M14x1,5 Sag Dis
200P1000 Axial Joint M14x1,5 RHT coalcoLplED Y100
Tara pynesas M14x1,5 MNpaBas pe3bba 90498181/ 483 6557
Viraj “Z” Rotu On
260P05 Link Stabilizer Front &GN 52
Tara cTabunusatopa MepeaHss 46 86 606 /90 496 116

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

Product Catalogue 2013 www.asmetal.com 345




\ ASMETAL

Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ana Moaseckn W Pyns Ynpasnenus

®

SOL / LEFT / NEBAA

9-5 01/2009->

260P1400

260P1405

As Metal Ref.
Kog As Metal

Viraj “Z" Rotu
260P1400 Link Stabilizer

Tara cTabunnsatopa

Viraj “Z" Rotu
260P1405 Link Stabilizer

Tara ctabunmsatopa

Description / Pa3bsacHeHue

SAG / RIGHT / MPABAS

260P1400

260P1405

Aciklama Orijinal Kod

Original Number / OpuruHanbHbIli Kog

én 350618
Front 13 258 052
MepeaHss 13258 058
On (Plastik) 350617
Front

Nepeasss 13219 141

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

uct Catalogue 2013

www.asmetal.com




\ASMETAL A

Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ans Moaseckn W Pyna Ynpaenenus

SOL / LEFT / NEBAA SAG / RIGHT / MPABAS

08/1984->08/1987
900 01/1979->12/1993

175A0121 175A0121

.

10SA0110 10SA0110

As Metal Ref. Aciklama

Kog As Metal Description / PasbsicHeHue Original Number / OpurnHanbHsbili Kog

Rotil Alt-Ust
) 890 5416 / 898 5384
10SA0110 Ball Joint Lower-Upper
- LLlapoBas onopa HuxHAs-BepxHas 899 3321 /899 3388
Rotbasi M14x2 Sag Dis 892 4177 / 898 5160
17SA0121 Tie Rod End M14x2 RHT 899 3354 / 899 3396
HakoHeuHuk pynesoii Tary  M14x2 lMpasas pe3b6a 899 3560

SOL / LEFT / NEBAA SAG / RIGHT / MPABAS

900 07/1993->02/1998

9-3 02/1998->08/2003

170P4055 170P4056

260P03 260P03

As Metal Ref. Aciklama
Kog As Metal Description / Pa3bsicHeHue

Orijinal Kod
Original Number / OpurnHanbHsbili Kog

Rotbasi M16x2 Sag Dis 42 42 749/ 903 50 447
170P4055 Tie Rod End M16x2 RHT 324 053 /324 055/373 519
HakoHeuHwuk pynesoii Tarm  M16x2 MpaBas pe3bba 903 69 704 / 903 73 519
Rotbasi M16x2 Sag Dis 42 42 756 / 903 50 448
170P4056 Tie Rod End M16x2 RHT 324 054 /324 056 / 373 520
HakoHeuHuK pyneBoii Tarm  M16x2 lMpaBas pe3bba 903 69 705/ 903 73 520
Aski Rotu On 350 263
260P03 Thrust Rod Front 4544 599
Tara ctabunmsatopa MepegHsas 9049 5045

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

Product Catalogue 2013 www.asmetal.com 347




\ ASMETAL

Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ana Moaseckn W Pyns Ynpasnenus

®

SOL / LEFT / NEBAA

95 10/1965->12/1978

175A0120 &

10SA0120

As Metal Ref.
Kog As Metal

Rotil
10SA0120 Ball Joint
LLlapoBas onopa
Rotbasi
17SA0120 Tie Rod End
HakoHeuHVK pyneBoii Tarum

3

Aciklama

Description / PasbscHeHune

Alt-Ust
Lower-Upper
HuxHas-BepxHas

M14x1,5 Sag Dis
M14x1,5 RHT
M14x1,5 MNpaBas pe3bba

SAG / RIGHT / [PABAS

96 10/1965->08/1980

17SA0120

10SA0120

Orijinal Kod

Original Number / OpurnHanbHsblili Kog

7099110/ 709 9120
737 2170

737 2162
899 3339

SOL / LEFT / NEBAA

9-3 01/2004->

260P2505
260P2500 110P2500
As Metal Ref.
Koa As Metal
Arka Tikirti Burcu
110P2500 Silent Bushing
CaiineHT610K
Rotbasi
170P2500 Tie Rod End
HakoHeuHK pyneBoii Tarum
Rotbasi
170P2501 Tie Rod End
HakoHeuHWK pyneBoit Taru
Rotmili
200P2500 Axial Joint
Tara pynesas
Viraj “Z” Rotu
260P2500 Link Stabilizer
Tara ctabunusartopa
Aski Rotu
260P2505 Thrust Rod

Tara cTabunvizatopa

200P2500

Aciklama

Description / Pa3bsicHeHue

09/2002->
Rear 09/2002->
3agHwin 09/2002->

M14x1,5 Sag Dis
M14x1,5 RHT
M14x1,5 MNpaBas pe3bba

M14x1,5 Sag Dis
M14x1,5 RHT
M14x1,5 MNpaBas pe3bba

M14x1,5 Sag Dis
M14x1,5 RHT

M14x1,5 MNpaBas pe3bba
On

Front

MepegHsas

Arka
Rear
3aaHsAs

\ 4 ﬁ_ﬁ M |
170P2500 170P2501

200P2500

09/2002->

09/2002->

SAG / RIGHT / NMPABAS

@

260P2505
110P2500 260P2500

Orijinal Kod

Original Number / OpurnHanbHblili Kog

0423 008 / 5178 3009
13204 115/ 13 105 744
0423 033 (For Wishbones)

1603 227 /5239 314 / 5235 650 / 128 01 423
12787 821/127 65896 /77363713
93172 254
1603 228 /5239 322 / 5235 668 / 127 81 813
12801424 /127 87822 /77363712
93172 255
1603 229/ 1603 351 / 1603 415/ 1609 034
93172 256/93187626/93191671
955 07 449/ 128 04 238
350 603 /350 615
1323 7130/ 2441 7251
51741130/ 5180 3183
71740112

444 275
13104 120

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

348 Product Catalogue 2013 www.asmetal.com



\ASMETAL A

Rot ve Rotilleri / Steering And Suspension Parts
3anacHble Yactu Ans Moaseckn W Pyna Ynpaenenus

SOL / LEFT / NEBAA SAG / RIGHT / MPABAS

99 04/1972->12/1984

17SA0121 17SA0121

17SA0126

17SA0126

10SA0110 10SA0110

As Metal Ref. Aciklama Orijinal Kod
Kog As Metal Description / Pa3bscHeHve Original Number / OpuruHanbHbIi Kog

Rotil Alt-Ust
. 890 5416 / 898 5384
10SA0110 Ball Joint Lower-Upper
- LLlapoBas onopa HuxHss-BepxHas 899 3321/3899 3388
Rotbasi M14x2 Sag Dis 01/1974-> 892 4177 / 898 5160
17SA0121 Tie Rod End M14x2 RHT 01/1974-> 899 3354 /899 3396
HakoHeuHwk pyneBoil Tarm  M14x2 lpaBas pesbba 01/1974-> 899 3560

Rotbasi 1/2"x20 UNF Sag Dis ->01/1974 8903197
17SA0126 Tie Rod End 1/2"x20 UNF RHT ->01/1974 17
HakoHeuHuK pyneBoii Tarm  1/2"x20 UNF MNpaBas pesbba ->01/1974 899 33

SOL / LEFT / NEBAA

9000 09/1984->12/1998

&

SAG / RIGHT / NPABAS

10SA10 10SA10

As Metal Ref. Aciklama Orijinal Kod

Koa As Metal Description / Pa3bsicHeHue Original Number / OpurmnHanbHbIli Kog

Rotil Alt-Ust
10SA10 Ball Joint Lower-Upper 235 ZOgS
LLlapoBas onopa HunxHss-BepxHas 72135

Asmetal products fit to mentioned trademarks and OE numbers in this catalogue.

Product Catalogue 2013 www.asmetal.com




